Equal 9 step grey scaling betweeb* g;n=—48.3 andL*y,\v=48.3, Yorei=0.9, normalisation greyU

L*0anm—48.3,L*0a=0.0, L*0anF48.4, Yoan=2.6. Yoa=18.0, Yoaw=126.0,Coay=Yoaw: Yoan=49.0
L*taN=—42.0,L*tay=0.0, L*tan~47.3, tan=3.3, Y1aU=18.0, ¥;an~=120.8,Gay=Yiaw: Yian=36.6
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* =100 AL* min] / [AL* max], L* TusinDp1 = 40 / Iog(5) [log (Y/Yy) ] with Y, =18

g*%= 100, g’y= 100 9%5=82, g%=7 g%= 98, g%5= 97
L*TuBanD1 intended output real output linearized output
n0.i L*0a L*Or YOa YOr : L*a Al*a L*r Yta (L*r) 1/1.08 L*Ia AL*la

501 ()9 484 10 1260 10} 473 1.0 1208 1.0 7.3
12.0 11.1
8 363 0875 77.4 0607 353 0.866 74.6  0.876 36.2
: 11.9 11.2
25+ ()7 242 075 476 0365 234 0.733 462  0.751 25.0
3 11.8 11.2
6 121 0625 29.3 0216 116 0.601 28.7  0.625 13.8
; 11.6 11.3
o+@>5 00 05 180 0125 00 0.471 180  0.499 25
i 11.4 11.2
@+ -120 0375 111 0069 -113 0.344 114  0.373 -8.6
10.9 111
-25+ @3 -241 025 68 003 -222 0221 7.3 0.249 -19.8
3 10.3 11.0
@2 362 0125 42 0013 -326 0.106 4.8 0.126 -30.8
; 9.5 11.3
-50L @1 -483 00 26 00! -420 00 33 0.0 -42.0

Al*os121  (i=1,2,...,8) normalisation: Yigiy= Yo:ﬁu\\((oa'i‘)’ef
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